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5. T AT A Bel ¥t n(AnB)=2,
n(B) =6 ,n(AUB) =9 4 ©, n(A) & F5toiet.
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An{2, 3, 4, 5} ={2, 5}
AU{2, 3, 4,5} ={1, 2, 3, 4, 5}

@ 674 @ 77 @ 871 @ 97§ ® 1074




i 9] 2 zA1QE Y gobe o}

sk sho] 207, A4S Folshs o] 177, QotT} A%< BT Fofole

stago] ol gote FotslA] o= sho] 157olt. olu), Solut A4S
S [e]



9. HAAHFU=1{1,2,3,4,5,6,7} & F FEZT A, B o ot n(A°NB°) =0
ola, ANB = {3}, (AUB®) — (A°UB) = {1,4,5,6} & W, n(A) +n(B) 2
= -stofzt,



10. FAFA={(2 1, a+3, b}, B={4, a b1} o] distel AnB =5 I o,
a+b o) gk Ftelat



